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3,874 H15 2,000 H20
631 H15 700 H20
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18,124 H15 20,000 H20
28 H15 30 H20




0112

NPO

NPO




1,7079 | 683.2 04
L=620m W=12m H13 H18 H16 H18 2,006 446 446 0 446
0112 L=492m W=9m H16 H20 H16 H20 401 401 401 0 401
L=110m W=12m H16 H18 H16 H18 167 167 167 0 167
L=70m W=4m H16 H17 H16 H17 6 6 6 0 6.5
H17 H19 H17 H20 96 96 96 0 96
H17 H19 H17 H19 5 5 5 0 5
A=1.6ha H18 H26 H18 H20 891 283 283 0 283
A=150 H19 H20 H19 H20 28 13 13 0 13
H17 H20 H17 H20 21 21 21 0 21
H19 H19 H19 H19 48 48 48 0 48
3,670 1487 1487 0] 14870]...
A=18.8ha H17 H22 H17 H20 62 38 38 0 38
A=154 H19 H20 H19 H20 57 57 57 0 57
H17 H19 H17 H19 107 107 107 0 107
H19 H19 H19 H19 3 3 3 0 3
H20 H20 H20 H20 2 2 2 0 2
H17 H20 H17 H20 16 16 12 4 12
H17 H17 H17 H17 1 1 1 0 1
249 225 221 4 221]...
_(A+B) 1,707.9
(=]
A=53ha =) H1l H20 1,810
=) H16 H19 245

2,055




